
Question -1) According to the passage, what was the primary criticism of the BHU study on
Covaxin?

A. It was not published in a reputed journal.
B. It included participants' recall of adverse events.
C. It was conducted over the telephone.
D. It lacked a control arm and had significant design limitations.

Question -2) What does the author imply about the publication of long-term safety data for
Covaxin?

A. It was published promptly after the trial.
B. It has been delayed despite being available.
C. It was not collected during the trial.
D. It was not important for the safety assessment.
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Question -3) What was the main difference in the ICMR's response to the BHU study on
Covaxin and the similar study on Covishield?

A. ICMR criticized both studies equally.
B. ICMR praised the Covishield study but criticized the Covaxin study.
C. ICMR did not criticize the Covishield study but criticized the Covaxin study.
D. ICMR ignored both studies.

Question -4) What reasoning does the author provide for the importance of including a
control arm in vaccine safety studies?

A. To reduce the cost of the study.
B. To introduce recall bias.
C. To provide meaningful and reliable information about adverse effects.
D. To increase the duration of the study.

Question -5) Based on the passage, which of the following is a consequence of the failure to
publish the long-term safety data of Covaxin?

A. It undermines the credibility of Bharat Biotech.
B. It led to the immediate approval of the vaccine.
C. It caused a halt in the vaccination drive.
D. It increased the cost of the clinical trials.

Question -6) What action does the author suggest as a better approach to countering the BHU
study's design limitations?

A. Criticizing the authors publicly.
B. Publishing the pending phase-3 safety data of Covaxin.
C. Ignoring the study's findings.
D. Conducting a new study with similar limitations.
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